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1.

IMSTREUCTTIONS

MMEDIATELY AFTER THE COMMENCEMENT OF TIE 1EXAMIMATION, ¥OU SHOOLD
CHLCK THAT THiE TEST BOOKLET DOES NOT HAVE ANY LINFRINTED OR TORN (1R

PMISEING PAGES OR ITEMS, CTC. IF 50, GET IT REPLACEIY RY & COMPLETE TEST
BOGKLET.

. EMNUCDE CLEARLY THE TREST BOOKLET SERIES A, B, C ORI A5 THE CASE MAY EE

[ THE AFFROPRIATE PLACE N TIE ANSWER SHEET.

You heer to coter your Foll Wamber an the Test
Sooklet s ihe [ox provided aloopeide. Do WOT
weele enyiking elze on the Tesl Bookdes,

Thiz Tesl. Huokiet containg 120 ltems |oplestions|, Each item ig prioted Tolk io Hiodi
and English. Each jiem compiiees four mesponacs [aeewerel. Yoo will select the
roaponac whici yog want to merk on dw Anywer Sheet, In casc yor feel bl thare =
mers than one eorvcel cespronse, mArk the regvotes which you conaider the best. [n any
case chooze ONCY OMNE rekmwinse for coch icem.

- You hewe to mack all your responzes ONLY o0 the sepatats Anewer Sheat proariced,

Sz direcdons it ithe Aniswesr Sherek,
Al itcms caz:y equal marks.

- Telore vou preceed Lo mark in che Anewer Sheel the response ta variens ltems n the

Teest Zinoklet. yo1 have 1n [l in some pardoutars in the Aoswer Sheet aa per inatioactiones
geod b voy abth vour Admilssion Certificate,

« Afler yow bave completed fillisg, in all your reeponses on the Answer Sheet and rhe

exainizalion haes concluded, you should haod over ta the Invighalue nafy the Ansuser
Sheet You are permitted o telc away wilh voy the Test Baoldec.

- Sheets For rorph work are appendesd in the Tes: Zooklet st Ui erad,
- Pepalty fat wWrong ADOWars :

THERE WILT. BE PEMALTY FOI WRONG ANSWERE MARKELD Y A CANDITATE IN THE
OEJECTIVE. TYPE QUESTION DPAPKKS,

() Thore ace lagr altemneatves for the ensaer to every guesban. For each gueslion for
whlch o wrmong answer has been piven by the condidate, ¢ne-thied [(0-33} of the
meaTk:E aekignad 1o that quesbon will be deductsd ns penrlty.

iii] I 8 candidate giveys mnme than one apewer, It will be treated as 8 wrong answar even
if one of the given answers bappens to be porrect and there will Be same penedor B
alipve to that guesdon.

fifi] M u question iz left Blank, Le., 10 answer i gven by the candidate, chore will e
no peasldy for thar guestioon.
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1. Il 4 and Bare subsets of 9 =0t X, 5 Mo un  edamlhadoen ooz of 100
then whet is [A &~ ]X - Hp w0 H 2cual smudents, T passed i Weplish,
ey T A0 paszed in Meatheratice and

45 pasged in ooth English  anl

|} Auk Malheralice. What-is the rumber
of studecta pasaetd in ewaclly ome al

(hl Ao l? Line two guljects?

= A ial 45

idf E bl Rl
ol 75

2. The hilal nuwrooct of evbscte af o
finite 3=t /1 hes 56 mom elemenls fely Sl

thar the w@ial number af snbsets af
enother bAnite set 0T Whal dw he 2, Lot

. . i P : :
siamber o elemonls in the aet A B=|xxF i » s a multiple of 2

a5 pod x = 1R
| F-lo|xc Noxinog mulliple af 5
(B & ard x < "0
g What ia the numler of elenenc: n
: S| i "
iy R R ] e
il 36
%, What 3= the  smoliesl oalorcal b A3
swnber 2 sacty that n! is divisibie o
| 2y LUo ¢ ey 2O
f
=1 & jel]
(11 T. ¥Amin, &, o aod 7= w a, (@ 4,
th, e, (b, L), e 4, leq) is &
e 33 binary celnénm ars A, then wiich
T = NTLE |0 THEd
i a onc of “he following is cocre

Forp W e reflexive and symmetric,
4. Which one of the felloving iz comrent ¥ bt rat wenaitie

thp 7 is cellesive and transitve,
but not avmmetric

iy Ax(B-Ci=(Ax Bl -[AxC] i) W ds  ceflexive, bu-  oeither

aymnmetric oor tremsilive
fod A BT =rA e ) '

G AR [H- ) =iA— Bl A -

=] 12 is cellexive. symractric sand

il AuBAC = A transitive
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Q-1 -0-F LA

§. Yrh qfien & o faEmEEr J 2 st 3

TR 75, Wl T = g vE A o
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S=lx xe i x, 5wl ¥
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fui A6
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fol 24
B
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B. illagjg[»+ }+12E), 5 - &, ther what
iz the vaiue of xF

|'u,| 1t
jB) 200
o 299
[l 300

. Whal is bhe velus of

ﬂ]cggﬂ—!ng;q?
i Th
ol
i) &3
il b/

1. Which cne of the folleadng 1= onc of
the rouls nl 13 erpuasion

(= rx” +lo— o +— =07
diz e —al Sk - o
it u— b b -]
T - TN PR 31
fell [rr—n] fez- bl
11. What is fhe wrlue of © aatiafring the
cquation

,EI"J:L—_:";"'_ A+ X

7

\o4xs - x
fal )2

i) 3

fe) i d

U

L CRLT R -

13, [E4x, 2 ke the rooctzs of the equation
2 -l inx + (11 n® 1 atpe 0
Ihen whal is Lhe value of ¥ 1 B
izl 2n®
By 2n
o 2
fel]  =?

13, The cde of Axt —He+0 =7 are

T andl = For the roobs of
x4 s mesg=4 o be r? oannd &4

whkat must be che value of p?
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il i? - A At
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fal o
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fal 2n?
il oA
fel 2
i ot
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16. I Ihr 9im of the Gist bwo termae sead 20. In 8 geowoelric prug-essicn with Mis)
the sum o {ke firer four 1= s al a Lecm . arndl commian Fatie r, what s
gprumetric pragressioem with poaicye the arithimatic m=an of fret fve
coromon rakio o pre 80 and  &D lerrnsd

: respertvely, theo what is the Gch
torim™ ) otidr
&g .
II'R.-I .".'.'.'j' -|.'L."'E
gy 1
i ai L [ ||
i) 1443 (i ar® =1 s - |
17. What iz the decimal pguivalont aof
01 10T, 7 21, If 2x =345, then -what iz ih=
wilie of
fal [5-22%, I
. dx~ 1 Art x4 TRR
By ['IJ'H:'!-:-*::'_
et B 8253, i) 4
@l 18834 i -4

18, If x:r]1 mnc log .. . l|1E_-3 x, log, L& fo 8
arc e GP, 1then what is x cqual 107
foi 8 fai —%

) B

2 3 2 . -
= A= 1 4 F lheee what 1= AlAd] A)
] = emiLal to?
- . . i D 1{|

1%, Waat = Lhe term indeopendent. of x ) 1o

in the expanszion of B
e 3 w _
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& TH B 0§ = 4T 2T ¥EH 9% W ¥
fn owys: & M 80 B, o wem o
==

[z B2
[hf 2473
(L =]

fl; 1458

17, (101-100,, <l ¥l duod #4137
frrf 45 A%Fq
15525,
ieh & A2,

il 15- 45,

1B T x> ] #HE I0E, %, logs &, loE; LG
Toite &< 4 #, T x %% 78 R F
fri 3
kW
fel =

fd) 2

[
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13, |1+x+2x3][3i"é—-—--1-i * S R

Exa.
x4 =99 72 R
fal 143
il 19754
el 1/4

o) F=m A Ter s b ws faae -5l
)

N-OEnRa-1-15 1148

20, TR T8 o AT AEGIW r & TE O

ot & gET o= 9% ST WIEAT O

37

fal &-2r

i ar?

fel  ar® =1 flr -

fdf ajr® - 1 7|5 - 1]

21, 4 Dx=3-6 B, d

I +2x% T+ 77
=T HIW T B

fz! 4
-4
fc 8
fd! - B
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TR
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10 n
) L
r ri1 1
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| P. T. {3




23, What iz the Lreerze of

a0 1
Eltﬂ"r'

[100
1 00
fmp |0 1 0
0o
|
oo 1o
1 0o
-1 0 1]
fi O -1 0
L I
Tpoa -1
jet] 0+l 0
-1 0 o]

29 Cunsider the follewing stalements

i raspec! of symmetric matrices
Asnd &

1. AR is symmel::

2. AY+ 5% i symmetco

Which of the above skalecnisnis
iafare eorroct?

f=l F enly
) 2 anlyr
e Both 1 and 2

4] Xeilher 1 nor 2

OLERA-I-N/1A

25, I

1 G a9 17
.F|=|- =
ookl

. AR GInde
T — ki1 l!!l!!!ll_rJ

then wihich one of the following ix
corroet?

[al O=.Acosd — Asinae

M C=Asine + Huoesoe

[ = Aging - Huoese

il - Ao - B

26. What i= the value of

.-'__I+!.u|-3]':"-".-: +,-'_1_[__||§]3EIL ;
L 2 o2
- -:|+;u";-:

1 1-;-3

il —1—;&;

i

BY. H wiz an imasioary cube -oeel ol

ucily, t3en whet is the veluc of dw
determitiant of Lthe milrix

b1 o m
Liw w w2
wl® wowf

jexd 0

fy =

fo]  —

fd A
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) 01D ~BIOA DS |
L B, ol FeleiTa 4 4 sld-w uee sdl B
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fl |0 1 O igt © - 4 sine - Moosa
1 oo fed) = A cosid + S i
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28. In how ramy ways can the lotoers of

the ward ‘CARTICN be arcanged =o
Lhat in each vrard thic vowels shoold
appear o alphabedeal order?

fa) 20
M) 240
e HED

() 4an

|

V=jx-x+2=01
Refx: x™+2x=(N
S=lx-xT | x-2 =0}

then for whal wlue of x, W= B = 5%

oy O
by —1
gl -2
fedi 1

3. i o7 s group of 20 teachers in

 schaol, 16 teach [athomadecs,
9 temrch Plwvasics and T teach
Cluwwaslmy. 4 reach both Wale-
matics and Phyalss, @ moae teach
both bathomatics aod Chemiatry.
¥What iz the number of teschets whe
terch both Chermistry and Physics?

fal 1
ol =
= 5

[l 4

2 -OEBA-1-Nf1A

1. Let @, v Le the ook of
Axt -Ax 1 1=0 and f, & e the
taiils of Bx< By 1=40. Mo, fl, & &

are in HP, thcn whal are 1he walges
aof A aral JF respectizely?

e 3, K
(hy - -=
ey 3, —#

id) -4 8

32. Under which one of the fallowing

cobdilagcs  does the avetem of
Eqiatiana

e+ y+m=0i-1
c+iylz=K-1
ct+ylag=k

Fave s ealediom

fal k=1
ke -2
f) k=lar k- -2

(), k=-%

33. II' the: aides of A t—Rngic are O cin,

20 an and 14 em, then whak iz the
lurgest angls includ=d by he sides?

el 90"

f)  lzoe
e} 125°
(gl 1504




£%. GARDEN' m h ared mt B wew o
TEaT o JFa 3. T TR TR T
. TP ST | AT e R
# =1t

ri8

ol 120
B 240
[l G0

fdi  4HD

E1i
F=lx:x+2=0)
Fejx x® «2x =0
S:I_x:.a:ﬂ!-x—E:{II-

ik F PR TIRRT Y- 531

fat

el -1

fol -2

fay 1

30, vF gem 3 20 Trgs Foawe O i

10 TR g4 §, o i mme § s
T T WEE El 4 Tl @ difER S
T T e Gt o gem T g, st
T 2 w1 S e B

fmi 1
fz] 2
el A

fd} 4

O-OEBA-I-H 1A 11

31, T3 [ FE odiee ax® —4x+ (e q

* OFTA oa, vy & &l ol
Brd a4+ l=0d 4o O & Bi o2
o, B oy, 5 FREE AT H A, 7T A SR B
F M s & BF

fo; 3, B
& 3, -8
el 3, —R

fdy -4, 8

g2, FECaben Bl § ¥ Fas mF % oandl

AT s

ket yt+tz- L
E+MU+E=HAh-1
xtyrkz-#k-1

il Rl ot e T AT

jerd k=1

B k-2

iy k=1 3ET g - =7

23, 4% om PFrga B =T é e, 10 cmoHR

14 cm &, At e & AT4 war nadt =51
eler seqr £7

@) @0
fhf 170
jop 135

[l 150

[E.T. Q.




4. If X and ¥ are any iwa oon-empty [3 4 0

pots, then whatiz X ¥ ecqualisa®  ° AT, Copsider o madelx A -I' 2 L0
L x_ v .3 1 k!
fa - and the followlng slalements ;
B XAy Statementd A Enverses of M cxers.
Stekemcoe B k20
5 S A
Whach naoe of the followgg o
M X-¥ rezpece of the abwive mulbnn smod

Blatermanls 3 cormact?

|" 1 ibopli 2 bat & 4 ot
28, Fo: findicg the arca of a irinngle ol A inplies 5 ba OCs o

. imply A
ABC, which of thé follewing cnbties ey
are reguireds B B oopliss A, but A docs oot
imaly B

el Angles A, B aod side a
(ol Meltlwer 4 deiplies 5 nor B

b Angtes A, N end eide b inplies o
fl Angles A 5 oand side ¢ (Al A implics B ag oaell s B
Implies A

(! Edther fm or (bl ar fey
AR, 2" -83¥ =17 and 27+%_aml _ g

a6 Lo s 1 2 : nol® [ Then what is the value af «2
. Lel - an =
! [n 4] 7 ] w3
wheve @ B wre nabwal nunebers,
lhen which onc of the folowing i by 2
correcl?
] 1
(7l There calst o than one bt T
Tiile number of Be euck  thal '
AR = BA
A2, If P[3E G =d3T B, then whAt is
I There exista exactly anc Beuch the walue of k7
that A0 = 54
iml &
fei There exist mfinitcly meoy Be A
such that A48 = A4
o 1D
fd) Thers cannot oda:z any O
such that AR = /4 (Ll TR

0-OEBA-T-N/14 12




54 o X o4 ¥ EE 2 = w=w o,
(X - ¥ F T A

fal X'-¥"'
|"|'_::_I My
1] - S WY

M X v

35. % IE ABC W ST TR = ¥ R

TRl & 8 - A BT
fo] ®M A, B9 g
i TEET A, &R OY b
jof WM A, B3R o

] AT ] WEW () T 1y

ag. TR Jdlfng A:[l E] #n

3 4
a 0 .
E':[n b-l.ﬁ'lﬁra, BT guiE ¥,
i o wE-m R A e
fu) TR W T T A e T O
oW AT & Fmd: o AR = Ba

By TETT: WH OTE R B W AfEEa R
T fom AR - BA

fis)  FAmTT: BH OO ® s § Ofaew
e A5 = Ba

fdy e P B o ot T o wea
e o AR - Ba

O-DERA-J-I 1A
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7. TG

i bt )

4
1
1

Eoli - B

{3

Ui [-uioifEm i R Rl
s A M o wldzdtg o aide 2
TR Bk 21

TEFE AFE MR wE ok el §
Fie=Satiaa i 8wl -o0 v 521 57

ey A, B R oguolid FROR, T

B, AT T

i B, A W @iy Fw f, B
A, Hw TH

fe) TR A, B I o E A A
® 5, AW

fdt A, Bt godieR #ar & 3 o ol
B, At

ag. 2% _ ¥ =17 afm oF+2 _ gkl g5

B, W« T AR = ET
) 3
by 2
e 1
fdl

3o, IR FiSE G=hoEz o W Ewm TR

) B
fa} 6
i 3%
i 120
T

[P T O



40, Wiiat is |3+ 14430 cqual o

(2! Ll+1

LTI

fep JEL L)

id) WE -] 2

41. Whid s ihe binery ecoquivalcnt of

deeimal furmber [0 5132547
ferf (Re1100d]

flei (G- 1007),

el [@-1111,

fdy (0-1011].,

F & p+z

42. If [z y x+ yl=10, then =whicn anc

X ¥ &St+tx

al the Ipllgaving = corroot?
fal Either x+y=2ar x =y
bl Either x+y=-xar x- =
= Fither x1+z-yor 2=y

(] kRudher z+y xor xeoy

d3, Whmat ie the valoe of kit
kb bre B®4nd
kK c+a ?+a? |=(z-HiB- dic- g7
K oa+k o +l”
fat 1
=TS |
o 2
i o

Q=-0OER\—--NF1A

44, Whet iz thc number of proper
subsels of a gwer finite set wits
n clementsy )

fa Zn-1
ikl Zn-2
oan o1
fdj 2" -%
45. Il [+ 3% a |actor of both the
guadratic polvmomials x* + pr+g

arrl £ + [ic 1 =, where gooland m

are constants, then which ome of
1l I’|:|'I!|1l.u'ing is correcr?

il =i —g) Gt- pb [Fe Pl
(B a={m+qg]fil+n t=s-p
e - fm-g)fla-pl fa=zpl

] p=om-gliias ) fa s

46, 1 A ITand O are threc fnibe scts,
then whet iz |4 o 5] O eaial e

jm ATUE A
fhy AR
e AT BT

i Asges

47, Whar is tlwe waluc of Lin{-1575)+
fry ]
et 112
il
fdl -1

.




40, [T +1) 70+ 3 T & R A4, 1 B n yEEE EE TG SHES @

fal 1ei e T &, H = et
Ml 1-d fa) 2m-1
el "«'r':f;ﬂ_':].'r:3 il -2
) T2
[l W -2 o oo
1. TIWMEE g (08125, +1 R fd) ¢ -2
Zr o) B
fai {01107 4K, M5 ¥+ peeg oW x? 4xem, FE
thl 0 1004, B 1o m oot §, | O3 famw
fei 1010113 AR F TR TEETE (xtal ¥ A
iell [0-1011), FefAfan 4 § F=-m on a9t &7
az. T fai @ - [m@-qfil-pl = p)
!Iy X 4+E fol a=(m+g)fil+pl |t #-n}
oM x+y=0 fof t=im-q)fin-pl la+* Pl
|.5|'.' F R i _ ,
) p=lm-gifle-I @l
%, Bl fiiE § 8w v e R

fm) M s gr=w TET x =y 45, TiE 4, 73 © AR T Tgwe A

B MAx-y=-zHT x=z [t B ~E]" % gea o B

o MW w1 g S ) AUE T
p AT A 4 = x TG & =
rit H Y W A B A

a3, I fo] AT B wE

K B+o ¥ 4ot fl] AnBAT
kL c+a ot +al-la-Hp-dic-a

o I
jk a=d a®-b7 47 lan|- 1575 %1 4 =0 8T

T i R I

@ 1
fal 1 w142
. ..
i) O fal -1
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48. For which acule angic B S51. The formula

cozes? I - 3 Tcald- 57 st 2l e w0 = Tain] x

i 5= jio iz e fur vl valucs of x lying in the
inbeTval
(B w3
: e} -5 1]
oy x 7

L el
40 I tEIII_Eﬂ=Ef,.'.I.I:1EI:|J-L then which :
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53. The sines of twa angles af a triangle
A= O -1 O v

J are equal to 57135 and 9%F101.
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